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kR, 7 HBIZReo 7z describe. by 2MEFITL X 9,

3OO MIRERR A ZNEI-
describe.by(xx$to.f1, xx$145D
ERXOTHINTT L, TARERRDIE AR L TR T
describe.by(xx[26:28], xx$1£5!)

EFEEOHTRLIEHTEET,

HER AR5 &, n mean sd
o X 5 iRpiic /e £4, tofl group:1 125 23.65 9.27
DL D REITOWTHIE group:2 173 24.84 4.76
B AbI T to.f2 group:1 125 12.62 3.73

group:2 172 13.82 3.89
to.f3 group:1 125 8.49 3.47
group:2 173 7.79 2.97

FIHAONTXEENETHADLDOLELNTL X 9, to. fLIZOWTORNTRZR TY, LL
TOX D R RTTEET,
boxplot(xx$to.fl ~xx$451)
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FEARIFLL T O L D IFoRSNET,

> t.test (xx$to.f1 ~ xxSPERI)

Welch Two Sample t-test

data: =xxS$to.fl by xxSTER

t = -2.0035, df = 250.565,

alternative hypothesis:
95 percent confidence interval:

-2.36009613 -0.02020445

sample estimates:

p-value = 0.0462
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true difference in means is not equal to 0

mean in group 1 mean in group 2
24.83815

23.64800

3MTHIZ, tfl, BHHE df), pEATATHES, Zhids, 5%KETHEREND
D EWVIRERTIN, TO IR, 95%FHIXH LT, miR IS TN EIDREDH)
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F L TRUSRD 2V, BIFOELIIC for AH-TRHZEHTEET, TH, *
OIS 0 ERFSNTLEDOT, MEATLENT S

for(a in 26:28) {

print(t.test(xx[,a] ~ xx$M451))

}

FERAE—EIZLED, UToX 21220 £3, bbAA, tIEIFHHMEFR RIZLT, df X
ISR ITHICOR L COET, e b, TREEITo70) &ECEZA%, Twelch Dt
MEZEIT-T=) & LTRIFIETS720OTIH2WTL X 9Dy

tE
n mean sd BHHE
to.f1 group:1 125 23.65 5.27 2.00 *

group:2 173 24.84 476 250.6

to.f2 group:1 125 12.62 3.73 2.68 *x*
group:2 172 13.82 3.89 273.6
to.f3 group:1 125 8.49 3.47 1.83
group:2 173 7.79 2.97 241.0
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t.test(xx$to.fl ~ xx$45I, var.equal=TRUE)
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